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=Year 11           =Coordinate geometry           =Worksheet 2
	[image: image1.png]1. ABC is an equilateral triangle. Find the coordinates of vertex A.                                            y
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	2. Refer to Q1. Find the coordinates of point D such that ABCD is a rhombus.
    

	3. Refer to Q1. Find the coordinates of the centroid of (ABC.

	4. Refer to Q1. Find the length of the line segment joining vertex B to the centroid.

	5. Show that A(1, (1), B(5, (4), C(8, 0) and D(4, 3) are the vertices of a square.
	6. Refer to Q5. Show that the diagonals AC and BD are perpendicular bisectors of each other.


	7. Refer to Q5. The square is translated so that vertex A is at the origin (0, 0). Find the coordinates of vertices B, C and D.

	8. Refer to Q7. After translation the square is rotated clockwise about the origin so that vertex D is on the positive x-axis. Find the coordinates of vertices B, C and D.

	9. Show that A((1, 5), B(0, 6), C(5, 2) and D(4, 1) are the vertices of a parallelogram.

	10. Refer to Q9. Find the coordinates of the intersection of diagonals AC and BD.

	11. PA and PB are perpendicular, where P(a, b), A(4, 2) and B(12, (4). Show that P is a point on the circle with diameter AB.

	Numerical, algebraic and worded answers.



1.  ((2, 3(4(3)


2.  (6, 3(4(3)


3.  ((2, 3(4/(3)


4.  8/(3


7.  B(4, (3), C(7, 1), D(3, 4)


8.  B(0, (5), C(5, (5), D(5, 0)


10. (2, 3.5)
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